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Adaptation: λRG=575
Adaptation: λJB=575ts=0.0
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Adaptation: λRG=475
Adaptation: λJB=475ts=0.0

log [PaDaTaUoNoWaHa]
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Adaptation: λRG=475
Adaptation: λJB=475

Schwelle: ts=0.0
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Adaptation: λRG=600
Adaptation: λJB=600ts=0.0

log [PaDaTaUoNoWaHa]
logNo = 0,5 [logTa+logUo]
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logPa= logPo − 0.16
logDa= logDo + 0.22
logTa= logTo − 0.76
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Adaptation: λRG=575
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Adaptation: λRG=475
Adaptation: λJB=475ts=0.0
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Adaptation: λRG=475
Adaptation: λJB=475ts=0.0
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Adaptation: λRG=600
Adaptation: λJB=600ts=0.0
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Adaptation: λRG=600
Adaptation: λJB=600ts=0.0
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